SI. No.	NSS Unit works and created of durable assets	Estimated Amounts (Approximately	
	2014-15		
1.	Bus Stop constructed by NSS Unit Volunteers at Thenugudem village.	Rs.	1,60,000
2.	NSS Volunteers contributed and donated amount to hills storm hit village Gajulagattu for village development.	Rs.	50,000
3.	Free Vocational Training Programme organized by NSS Unit for unemployed youth in College Campus.	Rs.	2,60,000
4.	2 Cycle Riksha donated to Venkatapuram village for garbage collection.	Rs.	60,000
	2015-16		
1.	Wheel Chair donated to handicapped person at Korremula village	Rs.	35,000
2.	Minor repairs and white wash by NSS Volunteers to 4 government schools and 2 Grampanchayat offices.	Rs.	35,000
3.	Water leakage and drainage repair at Korremula village	Rs.	70,000
4.	Health camps (4 Health checkup camps : 1975 members x @ Rs. 250/- medicine cost distributed)	Rs.	4,93,750
5.	Eye camps and medicine distributed (1729 people x @ Rs. 250/-)	Rs.	4,32,250
6.	Eye operations for people (45 members x Rs. 15000)	Rs.	6,75,000
7.	Eye camps organized and free spectacles issued (4 camp : 250 members x @ Rs. 800/-)	Rs.	2,00,000
8.	Pulse Polio Immunization Programmes (4 programmes : 1334 children x @ Rs. 70/- vaccinate cost)	Rs.	93,380

	Tree plantation Programmes (3,1024 saplings x Rs. 50/-)	Rs.	15,51,200
10.	Blood donation (1945 Units blood x Rs. 800/-)	Rs.	15,56,000
11.	Note books distributed to government and orphanage school students (890 note books x Rs. 25)	Rs.	22,250
12.	Slates distributed to village peoples (140 members X Rs. 35)	Rs.	4,900
13.	Computers donated to Korremula Government Schools and Venkatapur Grampanchayats (15 Computers X Rs. 18,000)	Rs.	2,70,000
14.	Community project development to Ghatkesar Press Club (Website)	Rs.	25,000
	2016-17		
1.	The Road repair and lying from Thenugudem village to Nehru outer ring road 1.5 k.m. NSS Volunteers worked		
1.	The Road repair and lying from Thenugudem village to Nehru outer ring road 1.5 k.m.	Rs. Rs.	1,40,000 50,000

2014-15 year estimated value of Assets.	KS. 5,50,000	(Approximately)
2015-16 year estimated value of Assets:	Rs. 54,63,730	(Approximately)
2016-17 year estimated value of Assets:	Rs. 1,90,000	(Approximately)
Total Estimated value of Assets :	Rs. 61,83,730	(Approximately)

Durable Assets to the community



Bus Stop at Tenugudem Village constructed by NSS Unit Anurag Group of Institutions Chief guest R.Gokul Krishnan (Regional Director and Mrs. N. Krishnaveni, Village Sarpanch



Cycle rickshaw's for garbage collection in the Venkatapur village to Make village Clean & Green by Anurag NSS Unit

Drainage system and Toilet done by NSS UNIT-1 at Venktapur Village



Claarance of waste



Levelling after waste clearance



Manhole construction

Whitewashing of Gram panchayat office done by NSS UNIT-1 at Venktapur Village



White washing the walls



Painting the windows and grills



Preparation for whitewash



Whitewashing the outer walls





Grampanchayath Office after white wash



Books distribution program to government school students at sai guda



Books distribution to 4th class student



Books distribution to 1st class students



Addressing the villagers at hillstorm village Gajulagattu, Warangal



Helping the senior citizens



Helping the families



Families in the village affected by the hillstorm

Vocational Training Programme for Un-Employed Youth on: Computer Basic & Hardware, Welding, House Wiring, Communication Skills



Computer basics training



Hardware basics training



Housewiring Training



Welding training

Water Pipe Line and Drainages repair



water pipeline repair



Clearing Drainage and waste water